Week 12
Thursday 11thJune 2020
Year 6- Varied fluency
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Inverse Operations

Inverse Operations

9a. 45,679km + 53,780km = 99,495km.
True or false? Complete an inverse

9b. 36,487m + §7,264m = 93.715m.
false? Complete an inverse operal
check if the answer is correct.
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10a. Use an inverse operation fo

8.39.291+

b4

=51473

10b. Use an inverse operation fo
calculate the missing numbers.

A.23968+ =29763

B15.069 +

44

=31.345

11a. Andi and Alan have combined
savings of £96,023. Andi's savings amount
1o £47.911. Use an inverse operation fo
calculate the value of Alan's savings.
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11b. Cath and Carl combined th
money fo buy a house for £89.089. Cath
paid £51.690. Use an inverse operafion fo.
calculate how much Carl paid.
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12a. Tick the calculafions fhat are correct
and the inverse of each ofher.

A £27.63+6581p=3818p

B. 6581p- £27.643=3818p

C. 6581p=£27.63-3818p

w

£27.63+3818p = 6,581p.

12b. Tick the calculations thaf are correct
and the inverse of each ofher.

A 1,849 +£11.97 = £3046

B £30.46+1849p = £11597

C. £11.97-1.849p = £30.46

w

£30.46-1,849p = £11.97
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Add and Subfract Integers

1. Complete the part whole models below.
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2. Using the two numbers in the place value char, complete fhe calculations below.
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3.Last year, an ice cream company made 54,841 fubs of chocolate chip and
raspberry ripple af fhe start of summer. The fable below shows how many were sol

the 6 week holidays altogether. How many fubs were left at the end of the holidays?
Flavour

Tubs sold

Chocolate chip 32,041

Raspberry ripple 11,020
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